
1)

Answer: ____________

2) $425.26 earning 3% compound 
interest for 9 years.

Answer: ____________

3) $27.00 earning 6% compound interest 
for 2 years.

Answer: ____________

4) Find area of square 
having each side (s)
equals 646 m

Answer: ____________

5) Find area of square 
having each side (s)
equals 343 cm

Answer: ____________

6) What would you multiply by to 
increase an amount by 22%?

Answer: ____________

7) What would you multiply by to 
increase an amount by 22%?

Answer: ____________

8) Factorise d2 + 8d + 12

Answer: ____________

9) Factorise j2 + 9j + 14

Answer: ____________

10) $125.00 earning 3% compound 
interest for 8 years.

Answer: ____________

Total: ___ / 10
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Answers:

1) 2) $554.87 3) $30.34 4) 417316m 5) 117649cm 6) 1.22 7) 1.22

8) (d + 2)(d + 6) 9) (j + 2)(j + 7) 10) $158.35
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